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* Select the number from the given alternatives which can replace the question

mark (?) in the following series.

o fQUTT forehedl H | 39 HEAT Rl =3 hifstd S e fcIRad Jaett § 94 = (2)
G ETiUd sht ek 2

¢




* Select the number from the given alternatives which can replace the question

mark (?) in the following series.

o fQUTT forehedl H | 39 HEAT Rl =3 hifstd S e fcIRad Jaett § 94 = (2)
G ETiUd sht ek 2




®* Which year's calendar after 1988 is the same as the year 1988?

* 19§8)e STe for® I AT hate, TN 1988 o HHH &7

AP

19
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® In a certain code SOUTHERN 1s written as UVPTMQDG. How will
MARIGOLD be written 1n that code language?

* Te MiEd e H SOUTHERNﬁUVPTMQDG ¥ H fora@n SITar 21 36l e A
ﬁMARI‘&OLD ST Toh JehT Tor@T SITT?

JSen




* Using each letter only as many times as it appears in the given word, select the
word which cannot be formed using the letters of the given word.

* Tcsh A& T ST sheared ST ST 3 §Y, TSIt ST I8 19T 7Tq ¥req § forg <l
2, 39 3168 hT = I ST [T 77T 378 o 3787 oh YANT U T ST ST 9ehd T 2

. METAPHYSI(,/AL

A.PLATE
B. ngL\E]
C. PLASTIC
D.CLASP
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* Six friends M, N, O, P, Q and R are sitting in a row facing north. Only O sits
between P and M. Only R sits between N and Q. M does not sit at any of the
ends nor 1s he an immediate neighbor of Q. P sits immediate left of O. Where 1s
N sitting?

* T8 T M, N, O, P, Q 3T R Tk Ufth H It shl A HE Hleh oS &l P 3R M o of=
e O 93T 8l N 3 Q & 1= shaed R 93T =1 M fordt oft T o 981 a1 8 3T &1

I8 Q T fehedq U=SIEi 31 P, O %Eﬁ?m"@lﬁé‘o’f%l NEHEERY,
‘ _ ' \/lA To the immediate right of @
4 M B. Second from the leftend |
C. At one end
D.Second from the right end
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* Rohit walks 15 km towards East, takes a right turn and walks 25 km. Then he
takes a left turn and walks 25 km. Then, he takes a left turn and walks 25 km.
Then, he takes a right turn and walks 10 km. Then, he takes a left turn and
walks 20 km. Finally, he takes a left turn and walks 35 km. In which direction

was he walking in the end? j_ S

* TR el oAl AR 15 TeRHT <IeAdT &, aT¢ qedl & 3R 25 Toh W%Iﬁ?{ol’a@l@gsm
2 3R 25 Toret Tretar 21 ot a1 aITE qeaT & 31K 25 TRt =retar 21 R, 3% aTe gear
2 31T 10 foreft =rerar 2 | fie, agamn@mésﬁtzo forHY SreTaT 81 37 A, a-s'aTq
nw%aﬁms%ﬁaw%lamﬁqs%&r%mﬁaaww

20k B East
lok ™ C. Answer
D. South-East




* Five objects A, B, C, D and E are of different weights. The weight of B 1s twice
the weight of E. The weight of C 1s three times that of A. The weight of D 1s
four times that of C. The weight of B 1s half of the weight of D. Which of these
1s the heaviest object?

* JiF IEIU A, B, C, D 3R E fi=-fi= Wl €| B %1 91 E % AR T 30T 81 C
W A o W T 1 1 81 D T 9 C o AT 3T =TT 21 B %1 9R D o W1 &l

SATET 81 5 Al 6 § hlA-HT g T o 27

i 3




* Pointing to a photograph of a lady, Varuna said, "She 1s the mother-in-law of
the only sister of my father-in-law's son". How 1s Varun related to that lady?

'\

* Toh HfRreT sh eI AT 37T ST <hLd BT, TRVT 3 T, "I B TR oh T hl Fohed el
S8 hl AT " | IR0 3 HiedT U fohd Yok Heiferd &7

? L A.Son-in-law
I _B. Brother

O

' * G
\

D. Husband




® In a family of six persons having two couples, D 1s sister of E and daughter of
F. H, mother of G, 1s the wife of E and daughter-in-law of J. E's sister's mother
1s married to F. How 1s F related to J?

* 31 A ATl BT HARKAT o TRAR H, D, E 31 587 & 3R F I T 8| G 31 71T H, E
ol O @ I J ol T 81 E Sl S8 i A1 o1 a8 F | 8371 81 F, J | fohe TR
Heiferd 27 A.Son-in-law

B. Brother
C. Son




* Select the combination of letters which when sequentially placed at the gaps in

the given series will complete the series.

* JT& oh 3H GATSH o1 =3 hifstd TS a1 15 HE@eT o Tk T H shiHeh &9 § W&

T el qﬁ‘eﬁawﬁé/
* LOQKC|[0QKCLO “ZC '
/%" \\,kg

. OQLKQIZ/
— B-QOLKQK

D




®* Which option will replace the question mark in the given matrix?

* {aU TTU SATSYE | I 91 foiehicd T 1@ ht TireTiyd s




® P is 4 years older than Q and 6 years younger than R, while Q and S are twins.

R 1s how many years older than S?

*P,QU 4N TSR SR ¥ 6 TN DA &, Selich Q N S [ &l R, S H e




® [f <means —, > means +, = means x and $ means -+, then what is the value of 29
>30%5<4?

g <HT AT B, >HI AT+ 8, =R AT x AN §HT T+ 2, d29>30$ 5< 4

T T -7 22




® Direction: Select the option that is related to the third term in the same way as

the second term 1s related to the first term.

o {933T: 39 forched 1 939 L ST el Ue O 3t aie gefed @ 59 R gl e 9
Heiferd 2|

®*30:9::15:7
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* Select the option 1n which the numbers are related in the same way as the
numbers in the given set.

* 39 {ofehic =T TIFH 1 IST, (ST HEATU 36t aiE § Eeiferd & S faq g e 4
T &

* (59,51, 63)




® Statements:

* All dancers are talented./&MT TTdeh TTTHTIITAT 2|

* Some girls are dancers./%® TSIHAT T ol

®* Conclusion:

* 1. Some girls are talented./$s G ERIRIGE MR

-fn**’an . o + A
° 1. All gegﬁlses are girls./@¥T IR TSIRAT & X
* I1I. All girls are talented./at TSRt ST 81 X

Ondy
J
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® Find the number of triangles 1n the figure.

® SThid H VST shl HEAT JTd hifsTY)




* Find out the alternative figure which contains figure (X) as its part.

* I dehfcUeh STTShId T hifTT FSTEeh T | 3T (X) 2




SSC CHSL (10+2) 2022

* Two positions of a dice are shown below. When the number 'l"' 1s at the top,

which number will be at the bottom?

°@Wﬁaﬁmqﬁ%ﬁ@§ﬁél S ST '] 30N Wl B, dl 9o i i




® Four number-pairs are given, out of which three are alike 1n a certain way and

one 1s different. Select the number-pair which is different from the rest.

o IR HeA- g fou Ty €, o € i wen fid alieh 8 wH § 3K T 31er ) 39
HEAT I HT II IS S AT § = 5 |

A.54-9

B. 126-21
C.155-15
D.216-36




